muw HEREAL #1

ANYDONE CAN CLAIM IT. WE PRDVE IT!

MAX PRO + IR.U BALL

TURELE. BALLS B AJCIL™ FRODUCTS COPRTINLE TO: BE THE BEST ARCHERY A H n H
FROOUCTS THAT MOMEY {C AN IUF. ABTHERS SRDUHD THE WORLD HAVT

FROANTH THEE PRODUCTS BY WIRRIRG: GO0, SHVEER, ARD BBEORTT
WEDALS, BF BECOMING THE @1 SRCHERS [N BH WORLD, BT FATEITRG:
THER DRCAM TROMHY ARINALS OF BY SPAFLY SHOOTRG THOF BEST
SOTWEE AT THER (LCHTAL ROURRLEAEEMTS. THE BEST SHOOTTRS M THE

WO RLD CHOOST R CLUIRINT DWVER AT OPHEES WHITHER TOUMRE

OH THE SHOCONNG IRE DR M & TREE STAKD, YOU CAH BE CORFIDERT
FROMIHG TIAT 7O FEUIPRADMT 5 TRLLY THE MEST ARD HAS BEEH
FHROROUSLY TESTED: I THE RCST IDEAUA MO EHVIRDRMIEMTS!

AT YOUE BEST WITH TRLL BUALLE: (& NCEL™.
THE WLANERS OF FRODLUCTS WS LEADIH G TRCHMNOL D1

rermmErE- THE REAL# 1

Sl - T B THE LY LELUFA T FREILIHS

15% SOF ERGOROWIET HELD

|3 SLE
[t ] T

HE&D

T LT
e L — R

I'I.||r|r-\.r| Mo H
v e

il-?ll'-“h HIpHcH

: a.'1“|".".'. 2 't'f:“‘%.‘a"'

Ok IR I el

o

o FAEE
SEAD SAMVES
JeD CEGETES AL RISTARLE
EREIITETTY
JCRENY

fo.

haale of Callceni

cong cancer ar bidh delechs o ol
neprodechve kamn, For mane infamiaSon

R wew  PASWornin g

o

o= LT I LT R BIALT-IN LEM R ARL

ickel Acad
.oy

r

AVRILAEIE N CAMD

which B Enown o 'hl:‘%

MAX PRO + (TMPP BK)
Standard Jaw - Black

WARMINIG: This prodisct cam @xpoke

I hinicak inchudsin

0

Me Afwiz Almebery Selfer

fle|E]y] www.TRUBALL.COM MaDE Au% THE REAL #1




MAK+ HUNTING SERIES

ADJUSTAELE THUME TRIGGER

SEMSITIVITY
P.DJUE-TMEHT SCREW

Maximum DrAw LENGTH!
A SMALLER HEAD AND SMALLER JAWS FOR
MORE DRAW LENGTH AND MORE BOW SPEED (FPS)

MAXxiMuM SILENCE!
COMPLETELY QUIET WHEN LOADING.

MaAaximum LoADING SPEED!
ACTIVATE TRIGGER TO OPEN JAWS, LET UP ON
TRIGGER TO CLOSE THEM.
- HEAD SWIVELS 360 DEGREES

= ADJUSTABLE SENSITIVITY SCREW

 — BUILT=IN LAMYARD
I, ATTACHMENT FOINT wTH
! IMCLUDED LAMYARD
WA RNING
dibhaei KBRS HoaDidd =apifaE sk
Lq.i WAHTARD PO RS E-0P,
Tol L, G 13 T BERP O BRLE FOR
Il:hllll'-ld- i FEFLATIHG HAHDLE
NELEAZED THAT iHON EVIDENCE OF
BEIS LET 43 ORI THE
SHE FIOCEL

ETHILT DAMPER
SATTRCST Dol FER

FHlCdlsl COviE - ROl PRiE
ERCSTHEL B DU HATE IIHIlHﬂ

L(

LEWNL VIRL IBEHEDE BIORD ARG UG ASD PHY A7 TAME DEFH ROE ACCURRCY

SENSITIVITY ADJUSTMENT

(See Sample A) Hold bow Sample A
string in one hand and pull
release away from you with
the other hand when making
release sensitivity adjustments.
Never draw bow while set-
ting sensitivity. To achieve
the lightest setting, turn the
sensitivity adjustment screw in 1/4 turn increments
until it fires prematurely. At this point, back the set
screw out 1/16 turn until the release fires premature-
ly at a pull of around 50 Ibs. or greater. Then, back
the screw out 1/4 turn and your release will be at its
lightest suggested setting. Back the screw out 1/8
turn at a time for a stiffer trigger. Use blue Loc-
Tite (#242) if screw is adjusted more than once!
Not for use with thinly braided rope loops or rope
material under 2mm dia. Call us for quality rope
loop made for these release aids!

ALWAYS INSURE RELEASE IS ADJUSTED TO A SAFE
SETTING BEFORE DRAWING BOW!
NEVER DRAW BOW WITHOUT AN ARROW!
NEVER POINT YOUR BOW IN AN UNSAFE DIRECTION!
THINK AND ACT SAFELY!

ITEMS IN THIS PACKAGING MAY BE PATENT PENDING
OR COVERED BY US PATENTS & REGISTERED TRADEMARKS.
VISIT
WWW. TRUBALL.COM/LEGAL.HTML
FOR A FULL LIST OF PATENTS & TRADEMARKS.

B e

ROCHK S0l

* NEVER DRAW BOW WITHOUT AN ARROW!

* ALWAYS POINT BOW AT A SAFE TARGET! NEVER
POINT BOW IN AN UNSAFE DIRECTION!

* DO NOT LET GO OF THIS RELEASE DURING THE
SHOT PROCESS!

* NEVER PULL THE RELEASE TOWARD FACE WHEN
DRAWING BOW!

* INSPECT EQUIPMENT BEFORE USE TO INSURE
PROPER OPERATING CONDITION!

* FAILURE TO FOLLOW THESE WARNINGS COULD
RESULT IN EQUIPMENT DAMAGE OR INJURY!

* THINK AND ACT SAFELY!

LIMITED WARRANTY
THIS PRODUCT IS GUARANTEED AGAINST DEFECTS IN
MATERIAL AND WORKMANSHIP NOT CAUSED BY NORMAL
WEAR TO THE ORIGINAL OWNER, WITH A VALID SALES
RECEIPT. THIS WARRANTY IS VOID IF THE RELEASE HAS
BEEN DISASSEMBLED, ABUSED, MODIFIED, OR SUBJECT TO
ABNORMAL CONDITIONS. WRIST STRAPS ARE NOT COVERED
UNDER WARRANTY. WE RECOMMEND YEARLY STRAP
REPLACEMENT.

LETTING GO OF YOUR RELEASE AID AT ANY TIME
DURING THE SHOT PROCESS, AS EVIDENCED BY
ABNORMAL DENTS AND/OR BENT PARTS, WILL VOID
THIS WARRANTY.
T.R.U., INC. WILL NOT BE LIABLE FOR ANY CONSEQUENTIAL
OR INCIDENTAL DAMAGES TO ANY OTHER PIECE OF EQUIP-
MENT THE RELEASE MAY COME IN CONTACT WITH.
T.R.U., INC. WILL NOT BE LIABLE FOR ANY INJURIES OR
DAMAGES TO ANY PERSON, PROPERTY OR EQUIPMENT THAT
IS CAUSED BY THE IMPROPER USE OF THIS PRODUCT.
IF YOU EXPERIENCE ANY PROBLEM WITH THIS PRODUCT,
CALL 434-929-2800 FOR A RETURN AUTHORIZATION (RA)
NUMBER, THEN UPS sHIP TO:
T.R.U, 131 CReENNEL DR, MADISON HEIGHTS, VA 24572
OR MaIL T0: T.R.U, P.O. Box 1180, MADISON HEIGHTS,
VA 24572.

ALL RETURNS MUST HAVE A RETURN AUTHORIZATION (RA) NUMBER.

SEE MORE INFORMATION ON THIS RELEASE
AND THE REST OF OUR PRODUCT LINE AT:

WWW. TRUBALL.COM

O DEPEMMD

Bl FICMH IECE EuOl BaaTEm—
= KDJEST WHESD V'Ol WEKRT N

SMRICEINICIIE B A0 | H

FHELOTECH F

EEL Pl S R AELEL

HLEHTS

muﬂa‘fhmmﬁum RS



